### HALYARD\* Sterilization Pouches





# MEET YOUR STERILIZATION POUCH NEEDS WITH CONFIDENCE

The HALYARD\* portfolio offers a line of high-quality single-use sterilization pouches to meet your sterile processing department's ever-changing sterilization packaging needs. Now, you can count on the same solution-oriented team who has led the way in sterilization wrap technology for decades to also address your sterilization pouch needs.

HALYARD

HALYARD

ZATION POUCH

- Feature triple heat-sealed rail seals
- CE marked and comply with the international norms and standards — ISO 11607 & EN 868
- Allow for aseptic presentation of contents

GRAYJAH

D HALYARD

- Available in:
  - A wide range of sizes
  - Pre-Cut Self-Seal Pouches
  - Pre-Cut Heat-Seal Pouches
  - Heat Seal Reels (Rolls)
- Feature:
  - Pre-Cut (Flat Pack) pouches feature heat-sealed corners on the thumb notch end, which help prevent dust from collecting at the opening seal and reducing the risk of contamination when pouch opened
  - Thumb Notch for easy opening
  - Specially designed peel-off seal that makes opening easy, clean, & fiber-free

### SELF-SEAL POUCHES

HALYARD\* Paper-Film Sterilization Pouches are made from premium 68 GSM paper consisting entirely of primary virgin fiber with excellent bacterial barrier properties that allow for proper sterilant penetration. The product provides clean peeling performance and high seal strength.

Multilayer transparent film provides puncture and abrasion resistance while also delivering a high-quality seal. The combination of our paper and film create a high-performance, durable sterile barrier system that provides users with a reliable clean peel experience. HALYARD\* Paper/Film Pouches are printed with sterilization process indicators for steam and EO sterilization modalities.

Thomas No.	Product Code	Size	Compatible Sterilization Modality	Packaging	
23A00W037	48547	50x250mm (1.97x9.84in)	STEAM/EO	200 eaches/box 10 boxes/case 2,000 eaches/case	
23A00W038	48548	90x130mm (3.54x5.12in)	STEAM/EO	200 eaches/box 10 boxes/case 2,000 eaches/case	
23A00W039	48549	90x200mm (3.54x7.87in)	STEAM/EO	200 eaches/box 10 boxes/case 2,000 eaches/case	
23A00W050	48560	90x230mm (3.54x9.06in)	STEAM/EO	200 eaches/box 10 boxes/case 2,000 eaches/case	
23A00W040	48550	90x250mm (3.54x9.84in)	STEAM/EO	200 eaches/box 10 boxes/case 2,000 eaches/case	
23A00W028	48538	100x300mm (3.94x11.81in)	STEAM/EO	200 eaches/box 10 boxes/case 2,000 eaches/case	
23A00W029	48539	100x350mm (3.94x13.78in)	STEAM/EO	200 eaches/box 10 boxes/case 2,000 eaches/case	
23A00W049	48559	130x250mm (5.12x9.84in)	STEAM/EO	200 eaches/box 10 boxes/case 2,000 eaches/case	
23A00W030	48540	130x270mm (5.12x10.63in)	STEAM/EO	200 eaches/box 10 boxes/case 2,000 eaches/case	
23A00W051	48561	175x330mm (6.89x12.99in)	STEAM/EO	200 eaches/box 5 boxes/case 1,000 eaches/case	
23A00W037	48541	200x350mm (7.87x13.78in)	STEAM/EO	200 eaches/box 5 boxes/case 1,000 eaches/case	
23A00W032	48542	225x420mm (8.86x16.54in)	STEAM/EO	200 eaches/box 5 boxes/case 1,000 eaches/case	
23A00W033	48543	250x350mm (9.84x13.78in)	STEAM/EO	200 eaches/box 5 boxes/case 1,000 eaches/case	
23A00W034	48544	250x400mm (9.84x15.75in)	STEAM/EO	200 eaches/box 5 boxes/case 1,000 eaches/case	
23A00W035	48545	300x450mm (11.81x17.72in)	STEAM/EO	200 eaches/box 5 boxes/case 1,000 eaches/case	
23A00W036	48546	300x500mm (11.81x19.69in)	STEAM/EO	200 eaches/box 5 boxes/case 1,000 eaches/case	

#### HALYARD\* Self-Seal Paper/Film Pouches

MET 48540

Paper/Film Pouch Composition: Paper Backer - Green Tint Film Front

HALYARD\* Low Temperature Sterilization Pouches, designed for use with hydrogen peroxide gas plasma (H2O2) sterilization, are made from premium Tyvek® 1059B material consisting entirely of flashspun and bonded high-density polyethylene (HDPE) filaments that form an excellent barrier to microbial penetration. The product provides superior tear strength, puncture resistance, clean peeling performance and high seal strength.

Multilayer transparent film provides puncture and abrasion resistance while also delivering a high-quality seal. The combination of superior Tyvek® material and our specialty film create a durable sterile barrier system. HALYARD\* pouches made with Tyvek® material are printed with sterilization process indicators for hydrogen peroxide gas plasma (H2O2) sterilization methods.

HALYARD <sup>*</sup> Self-Seal Low Temperature Pouches					
Thomas No.	Product Code	Size	Compatible Sterilization Modality	Packaging	
23A00W044	48554	75x200mm (2.95x7.87in)	PLASMA (H202)	200 eaches/box 10 boxes/case 2,000 eaches/case	
23A00W041	48551	150x300mm (5.91x11.81in)	PLASMA (H202)	200 eaches/box 10 boxes/case 2,000 eaches/case	
23A00W042	48552	150x320mm (5.91x12.6in)	PLASMA (H202)	200 eaches/box 10 boxes/case 2,000 eaches/case	
23A00W043	48553	200x400mm (7.87x15.75in)	PLASMA (H202)	200 eaches/box 5 boxes/case 1,000 eaches/case	

## HEAT-SEAL POUCHES

#### HALYARD\* Heat-Seal Paper/Film Pouches

Thomas No.	Product Code	Size	Compatible Sterilization Modality	Packaging
23A00W006	48516	50x250mm (1.97x9.84in)	STEAM/EO	250 eaches/box 8 boxes/case 2,000 eaches/case
23A00W007	48517	75x150mm (2.95x5.91in)	STEAM/EO	250 eaches/box 8 boxes/case 2,000 eaches/case
23A00W008	48518	75x200mm (2.95x7.87in)	STEAM/EO	250 eaches/box 8 boxes/case 2,000 eaches/case
23A00W009	48519	75x250mm (2.95x9.84in)	STEAM/EO	250 eaches/box 8 boxes/case 2,000 eaches/case
23A00W010	48520	75x300mm (2.95x11.81in)	STEAM/EO	250 eaches/box 8 boxes/case 2,000 eaches/case
23A00V985	48495	100x150mm (3.94x5.91in)	STEAM/EO	250 eaches/box 8 boxes/case 2,000 eaches/case
23A00V986	48496	100x200mm (3.94x7.87in)	STEAM/EO	250 eaches/box 8 boxes/case 2,000 eaches/case
23A00V987	48497	100x250mm (3.94x9.84in)	STEAM/EO	250 eaches/box 8 boxes/case 2,000 eaches/case
23A00V988	48498	100x270mm (3.94x10.63in)	STEAM/EO	250 eaches/box 8 boxes/case 2,000 eaches/case
23A00V989	48499	100x300mm (3.94x11.81in)	STEAM/EO	250 eaches/box 4 boxes/case 1,000 eaches/case
23A00V989	48500	100x380mm (3.94x14.96in)	STEAM/EO	250 eaches/box 8 boxes/case 2,000 eaches/case
23A00V991	48501	100x400mm (3.94x15.75in)	STEAM/EO	250 eaches/box 8 boxes/case 2,000 eaches/case
23A00V992	48502	100x520mm (3.94x20.47in)	STEAM/EO	250 eaches/box 8 boxes/case 2,000 eaches/case
23A00V993	48503	120x400mm (4.72x15.75in)	STEAM/EO	250 eaches/box 4 boxes/case 1,000 eaches/case
23A00V994	48504	150x200mm (5.91x7.87in)	STEAM/EO	250 eaches/box 8 boxes/case 2,000 eaches/case
23A00V995	48505	150x270mm (5.91x10.63in)	STEAM/EO	250 eaches/box 8 boxes/case 2,000 eaches/case
23A00V996	48506	150x300mm (5.91x11.81in)	STEAM/EO	250 eaches/box 4 boxes/case 1,000 eaches/case
23A00W048	48558	150x350mm (5.91x13.78in)	STEAM/EO	250 eaches/box 4 boxes/case 1,000 eaches/case
23A00V997	48507	150x380mm (5.91x14.96in)	STEAM/EO	250 eaches/box 8 boxes/case 2,000 eaches/case
23A00V998	48508	150x400mm (5.91x15.75in)	STEAM/EO	250 eaches/box 8 boxes/case 2,000 eaches/case
23A00V999	48509	200x610mm (7.87x24.02in)	STEAM/EO	250 eaches/box 4 boxes/case 1,000 eaches/case
23A00W000	48510	205x400mm (8.07x15.75in)	STEAM/EO	250 eaches/box 4 boxes/case 1,000 eaches/case
23A00W001	48511	220x300mm (8.66x11.81in)	STEAM/EO	250 eaches/box 4 boxes/case 1,000 eaches/case
23A00W002	48512	250x380mm (9.84x14.96in)	STEAM/EO	250 eaches/box 4 boxes/case 1,000 eaches/case
23A00W003	48513	250x500mm (9.84x19.69in)	STEAM/EO	250 eaches/box 2 boxes/case 500 eaches/case
23A00W004	48514	300x500mm (11.81x19.69in)	STEAM/EO	250 eaches/box 2 boxes/case 500 eaches/case
23A00W005	48515	420x500mm (16.54x19.69in)	STEAM/EO	250 eaches/box 2 boxes/case 500 eaches/case

Pouch Composition: Paper Backer - Green Tint Film Front

#### HALYARD<sup>\*</sup> Heat-Seal Low Temperature Pouches Compatible Sterilization Modality Product Thomas No. Code Size Packaging 23A00W022 48532 75x210mm (2.95x8.27in) PLASMA (H202) 250 eaches/box 4 boxes/case 1,000 eaches/case 23A00W017 48527 100x260mm (3.94x10.24in) PLASMA (H202) 250 eaches/box 4 boxes/case 1,000 eaches/case 23A00W018 48528 150x320mm (5.91x12.6in) PLASMA (H202) 250 eaches/box 4 boxes/case 1,000 eaches/case 23A00W019 48529 200x400mm (7.87x15.75in) PLASMA (H202) 250 eaches/box 4 boxes/case 1,000 eaches/case 23A00W020 48530 200x500mm (7.87x19.69in) PLASMA (H202) 250 eaches/box 2 boxes/case 500 eaches/case 23A00W021 48531 200x650mm (7.87x25.59in) PLASMA (H202) 250 eaches/box 2 boxes/case 500 eaches/case

Pouch Composition: Tyvek® Material Backer - Clear Film Front

### **REELS: CUSTOMIZE** TO YOUR SPECIFIC POUCH NEEDS

### HALYARD<sup>\*</sup> Heat-Seal Paper/Film Reels

Thomas No.	Product Code	Size	Compatible Sterilization Modality	Packaging
23A00W015	48525	50mm x 200m (1.97in x 656.2ft)	STEAM/EO	Shrink-wrapped individually 2 reels/case
23A00W016	48526	75mm x 200m (2.95in x 656.2ft)	STEAM/EO	Shrink-wrapped individually 2 reels/case
23A00W011	48521	100mm x 200m (3.94in x 656.2ft)	STEAM/EO	Shrink-wrapped individually 1 reel/case
23A00W012	48522	150mm x 200m (5.91in x 656.2ft)	STEAM/EO	Shrink-wrapped individually 1 reel/case
23A00W013	48523	200mm x 200m (7.87in x 656.2ft)	STEAM/EO	Shrink-wrapped individually 1 reel/case
23A00W014	48524	250mm x 200m (9.84in x 656.2ft)	STEAM/EO	Shrink-wrapped individually 1 reel/case
23A00W045	48555	300mm x 200m (11.81in x 656.2ft)	STEAM/EO	Shrink-wrapped individually 1 reel/case
23A00W046	48556	400mm x 200m (15.75in x 656.2ft)	STEAM/EO	Shrink-wrapped individually 1 reel/case
23A00W047	48557	500mm x 100m (19.69in x 328.1ft)	STEAM/EO	Shrink-wrapped individually 1 reel/case

**Pouch Composition: Paper Backer - Green Tint Film Front** 

HALYARD* Low Temperature Sterilization Pouch Reels					- 17
Thomas No.	Product Code	Size	Compatible Sterilization Modality	Packaging	Onimer
23A00W027	48537	75mm x 100m (2.95in x 328.1ft)	PLASMA (H202)	1 reel/box 8 boxes/case	
23A00W023	48533	100mm x 100m (3.94in x 328.1ft)	PLASMA (H202)	1 reel/box 8 boxes/case	
23A00W024	48534	150mm x100m (5.91in x 328.1ft)	PLASMA (H202)	1 reel/box 8 boxes/case	
23A00W025	48535	200mm x 100m (7.87in x 328.1ft)	PLASMA (H202)	1 reel/box 4 boxes/case	
23A00W026	48536	250mm x 100m (9.84in x 328.1ft)	PLASMA (H202)	1 reel/box 4 boxes/case	

Pouch Composition: Tyvek® Material Backer - Clear Film Front

HALYARD* Heat-Seal Paper/Film Gusseted Pouches					
Thomas No.	Product Code	Size	Compatible Sterilization Modality	Packaging	
23A00V982	48492	150x50x400mm (5.91x1.97x15.75in)	STEAM/EO	100 eaches/box 10 boxes/case 1,000 eaches/case	
23A00V983	48493	200x55x400mm (7.87x2.17x15.75in)	STEAM/EO	100 eaches/box 10 boxes/case 1,000 eaches/case	
23A00V984	48494	150mm x 50mm x 100m (5.91in x 1.96in x 328ft)	STEAM/EO	Shrink-wrapped individually 2 reels/case	

#### Pouch Composition: Paper Backer - Green Tint Film Front

DuPont™, the DuPont Oval Logo and Tyvek® are trademarks or registered trademarks of DuPont or its affiliates. Copyright © 2020 DuPont de Nemours Inc. \*Registered Trademark or Trademark of O&M Halyard or its affiliates. ©2020. All rights reserved. COPY-03708









